
CHEMISTRY _ 3 Sep. _ SHIFT - 2



1. The five successive ionization enthalpies of an element are 800, 2427, 3658, 25024 and 32824 kJ
mol–1. The number of valence electrons in the element is:
, d RkRo dh i k¡p mÙkj ksÙkj  vk; uu , UFkSfYi ; k¡ 800, 2427, 3658, 25024 r Fkk 32824 kJ mol–1 gSaA r Ro esa l a; kst dr k

bySDVªkWuksa dh l a[ ; k gS %
(1) 2 (2) 4 (3) 3 (4) 5

Sol. 3
Fourth & Fifth I.E. are very high (periodic properties) indicating presence of three valence shell electrons

2. The incorrect statement is:
(1) Manganate and permanganate ions are tetrahedral
(2) In manganate and permanganate ions, the -bonding takes place by overlap of p-orbitals of
oxygen and d-orbitals of manganese
(3) Manganate and permanganate ions are paramagnetic
(4) Manganate ion is green in colour and permanganate ion is purple in colour
Xkyr  dFku gS %
(1) eSaxusV r Fkk i j eSxusV vk; u vuqpqacdh;  gksr s gSaA

(2) eSaxusV r Fkk i j eSaxusV vk; uksa esa vkWDl ht u ds p-d{kdksa r Fkk eSaxuht  ds d-d{kdksa ds vfr O; ki u ds } kj k -vkca/k cur s gSaA

(3) eSaxusV r Fkk i j eSaxusV vk; u pr q"Qydh;  gksr s gSA

(4) eSaxusV vk; u gj s j ax dk gS r Fkk i j eSaxusV vk; u uhyyksfgr  j ax dk gSA
Sol. 3

7

Mn


O4
– dº  dimagnetic

6

Mn


O4
2– d1  Paramagnetic

3. Match the following drugs with their therapeutic actions:
(i) Ranitidine (a) Antidepressant
(ii) Nardil (Phenelzine) (b) Antibiotic
(iii) Chloramphenicol (c) Antihistamine
(iv) Dimetane (Brompheniramine) (d) Antacid

(e) Analgesic
fuEufyf[ kr  vkS"kf/k; ksa dks muds fpfdRl dh;  fØ; kvksa ds l kFk l qesfyr  dhft ,  %

(i) jSfufVMhu (a) i zfr vol knd

(ii) ukj fMy (fQufYTku) (b) i zfr t Sfod
(iii) DyksjSEQsfudkWy (c) i zfr fgLVSfeu

(iv) MkbesVsu (czkseQsfuj kfeu) (d) i zfr &vEy

(e) i hM+kgkjh
(1) (i)-(d); (ii)-(a); (iii)-(b); (iv)-(c) (2) (i)-(d); (ii)-(c); (iii)-(a); (iv)-(e)
(3) (i)-(a); (ii)-(c); (iii)-(b); (iv)-(e) (4) (i)-(e); (ii)-(a); (iii)-(c); (iv)-(d)

Sol. 1



4. An ionic micelle is formed on the addition of:
(1) liquid diethyl ether to aqueous NaCl solution
(2) sodium stearate to pure toluene

(3) excess water to liquid 

(4) excess water to liquid

, d vk; fud fel sy cur k gS:
(1) nzo Mkb, fFky bZaFkj  dks t yh;  NaCl foy; u esa Mkyus i j

(2) l ksfM; e LVh, j sV dks ' kq)  VkywbZu esa Mkyus i j  t y&vkf/kD;  dks nzo

(3) t y&vkf/kD;  dks nzo N N
H C3 CH3

SO4
–
 esa Mkyus i j

(4) t y&vkf/kD;  dks nzo N N
H C3 CH3

PF6  esa Mkyus i j

Sol. 3
ionic micelles formed by addition of water to soap {sodium stearate}
Ans. (3)

5. Among the statements (I–IV), the correct ones are:
(I) Be has smaller atomic radius compared to Mg.
(II)Be has higher ionization enthalpy than Al.
(III) Charge/radius ratio of Be is greater than that of Al.
(IV) Both Be and Al form mainly covalent compounds.
(1) (I), (II) and (IV) (2) (I), (II) and (III)
(3) (II), (III) and (IV) (4) (I), (III) and (IV)
dFkuksa (I–IV) esa l s l gh dFku gS:
(I) Mg dh r qyuk esa Be dh i j ek.kq f=kT; k NksVh gSA

(II)  Al dh vi s{kk Be dh vk; uu , UFkSYi h vf/kd gSA

(III) Al dh vi s{kk Be dk vkos' k@f=kT; k vuqi kr  vf/kd gSA

(IV) nksuksa Be r Fkk Al eq[ ; r % l gl a; kst d ; kSfxd cukr s gSaA

(1) (I), (II) r Fkk (IV) (2) (I), (II) r Fkk (III)
(3) (II), (III) r Fkk (IV) (4) (I), (III) r Fkk (IV)

Sol. 1
Refer S-Block



6. Complex A has a composition of H12O6Cl3Cr. If the complex on treatment with conc.H2SO4 loses
13.5% of its original mass, the correct molecular formula of A is:
[Given: atomic mass of Cr = 52 amu and Cl = 35 amu]
l adqy A dk l a?kVu H12O6Cl3Cr gSA ; fn l adqy l kUnz H2SO4 ds l kFk vfHkfØ; k dj kus i j  vi uh ewy l agfr  dk 13.5% [ kks nsr k

gS] r ks A dk l gh vkf.od l w=k gS :
[fn; k x; k gS : i j ek.kq l agfr  Cr = 52 amu r Fkk Cl = 35 amu]
(1) [Cr(H2O)5Cl]Cl2.H2O (2) [Cr(H2O)4Cl2]Cl.2H2O
(3) [Cr(H2O)3Cl3].3H2O (4) [Cr(H2O)6]Cl3

Sol. 2
Let x molecule of water are lost then

13.5 = 
x 18

6 18 3 35 52
 

     
 × 100

x = 1.99  2
so, complex is [Cr(H2O)4Cl2].2H2O

7. The decreasing order of reactivity of the following compounds towards nucleophilic substitution
(SN2) is:
fuEufyf[ kr  ; kSfxdksa dh ukfHkdj kxh i zfr LFkki u (SN2) ds i zfr  vfHkfØ; k' khyr k dk ?kVr k Øe gS %

CH Cl2

(I)

CH Cl2

(II)

NO2

NO2
 

CH Cl2

(III)

NO2

NO2

CH Cl2

(IV)
NO2O2N

(1) (III) > (II) > (IV) > (I) (2) (IV) > (II) > (III) > (I)
(3) (II) > (III) > (IV) > (I) (4) (II) > (III) > (I) > (IV)

Sol. 3

CH  – Cl2 CH  – Cl2

NO2

(I) (II)

CH  – Cl2

NO2

(III)

NO2

NO2

CH  – Cl2

NO2

(IV)

NO2

(–m)

(–m) (–m)
(–m)

(–m)

(-m)



8. The increasing order of the reactivity of the following compounds in nucleophilic addition reaction is:
Propanal, Benzaldehyde, Propanone, Butanone
(1) Benzaldehyde < Propanal < Propanone < Butanone
(2) Propanal < Propanone < Butanone < Benzaldehyde
(3) Butanone < Propanone < Benzaldehyde < Propanal
(4) Benzaldehyde < Butanone < Propanone < Propanal
fuEufyf[ kr  ; kSfxdksa dh ukfHkdj kxh ; ksxt  vfHkfØ; kvksa esa vfHkfØ; k' khyr k dk c<+r k Øe gS% i zksi suy] csUt kfYMgkbM] i zksi suksu] C; wVsuksu
i zksi suy] csUt kfYMgkbM] i zksi suksu] C; wVsuksu
(1) csUt kfYMgkbM < i zksi suy  < C; wVsuksu < C; wVsuksu
(2) i zksi suy  < C; wVsuksu < C; wVsuksu < csUt kfYMgkbM
(3) C; wVsuksu < C; wVsuksu < csUt kfYMgkbM < i zksi suy
(4) csUt kfYMgkbM < C; wVsuksu < C; wVsuksu < i zksi suy

Sol. 3
Rate of Nucleophilic addition  Aldehyde > Ketone
Aliphatic aldehyde > Aromatic aldehyde

9. The major product in the following reaction is:
fuEufyf[ kr  vfHkfØ; kvksa esa eq[ ;  mRi kn gS %

I

 Heat
BuOHt   

(1) 

Ot-Bu

(2) (3) (4) 

Sol. 3

10. The incorrect statement(s) among (a) – (d) regarding acid rain is (are):
(a) It can corrode water pipes.
(b) It can damage structures made up of stone.
(c) It cannot cause respiratory ailments in animals
(d) It is not harmful for trees
(1) (a), (b) and (d) (2) (a), (c) and (d) (3) (c) and (d) (4) (c) only
vEyh;  o"kkZ ds l aca/k esa dFku (a) – (d) esa l s xyr  dFku gS@gSa %
(a) ; g t y  ds i kbi ksa dks l a{kkfj r  dj r k gSA
(b) ; g i RFkj  dh cuh l aj pukvksa dks {kfr  i gq¡pkr k gSA
(c) ; g eosf' k; ksa esa ' ol u dh chekj h dk dkj .k ugha gks l dr k gSA
(d) ; g i sM+ksa ds fy,  gkfudkj d ugha gSA

(1) (a), (b) r Fkk (d) (2) (a), (c) r Fkk (d) (3) (c) r Fkk (d) (4) dsoy (c)



Sol. 3
Acid rain can cause respiratory ailments in animals and also harmful for trees and plant.

11. 100 mL of 0.1 M HCl is taken in a beaker and to it 100 mL of 0.1 M NaOH is added in steps of 2 mL
and the pH is continuously measured. Which of the following graphs correctly depicts the change in
pH?
0.1 M HCl ds 100 mL dks , d chdj  esa fy; k t kr k gS r Fkk bl esa 0.1 M NaOH ds 100 mL dks 2 mL ds i nksa esa Mkyk t kr k

gS r Fkk bl dk pH fuj Ur j  eki k t kr k j gkA pH esa i fj or Zu ds fp=k.k ds fy ,  fuEufyf[ kr  vkys[ kksa esa l s dkSu l gh gSa \

(1) 
pH

vol. of NaOH

7
(2) 

pH

vol. of NaOH

7

(3) 
pH

vol. of NaOH

7
(4) pH

vol. of NaOH

7

Sol. 3

NaOH(2ml)

HCl

initially pH will be acidic < 7
at eq pH pH = 7
& finally pH will be basic > 7

vol of NaOH

7

pH

option (3)

12. Consider the hypothetical situation where the azimuthal quantum number, l, takes values 0, 1, 2,
...... n + 1, where n is the principal quantum number. Then, the element with atomic number:
(1) 13 has a half-filled valence subshell (2) 9 is the first alkali metal
(3) 8 is the first noble gas (4) 6 has a 2p-valence subshell



dkYi fud fLFkfr  i j  fopkj  dhft ;  t gk¡ fnxa' kh;  Dok.Ve l a[ ; k l, dk keu 0, 1, 2, ...... n + 1 gksr k gS] t gka n eq[ ;  Dok.Ve

l a[ ; k gSA r c] fuEufyf[ kr  i j ekk.kq Øekad okyk r Ro gS&

(1) 13 okyk v) Zi wfj r  l a; kst h mi dks' k j [ kr k gS (2) 9 okyk i zFke {kkj h;  /kkr q gS

(3) 8 oky i zFke vkn' kZ xSl  gS (4) 6 okyk 2p-l a; kst h mi dks' k j [ kr k gS
Sol. 1

(1) 13X = 1s2 1p6 1d5  - half filled
(2) 9X = 1s2 1p6 1d1      - not alkali metal
(3) 8X = 1s2 1p6            - Second nobel gas
Option (1)

13. The d-electron configuration of [Ru(en)3]Cl2 and [Fe(H2O)6]Cl2, respectively are:

(1) 2
g

4
g2 et  and 0

g
6
g2 et (2) 0

g
6
g2 et  and 0

g
6
g2 et

(3) 2
g

4
g2 et  and 2

g
4
g2 et (4) 0

g
6
g2 et  and 2

g
4
g2 et

[Ru(en)3]Cl2 r Fkk [Fe(H2O)6]Cl2 ds d-bySDVªkWu foU; kl  Øe' k% gSa :

(1) 2
g

4
g2 et  r Fkk 0

g
6
g2 et (2) 0

g
6
g2 et  r Fkk 0

g
6
g2 et

(3) 2
g

4
g2 et  r Fkk 2

g
4
g2 et (4) 0

g
6
g2 et  r Fkk 2

g
4
g2 et

Sol. 4

[Ru(en) ]Cl3 2 [Fe(H O) ]Cl2 6 2

2+ 2+

Low spin
complex

High spin
complex

d6 d6
 eg0 eg2

t2g
6  t2g

4

|

14. Consider the following molecules and statements related to them:

(A) 
O

C 

H
O H

O

(B) 
O

C 

H
O

O

H

(a) (B) is more likely to be crystalline than (A)
(b) (B) has higher boiling point than (A)
(c) (B) dissolves more readily than (A) in water
Identify the correct option from below:
(1) (a) and (c) are true (2) only (a) is true
(3) (b) and (c) are true (4) (a) and (b) are true



fuEu v.kqvksa , oa mul s l EcfU/kr  dFkuksa i j  fopkj  dhft ,  %

(A) 
O

C 

H
O H

O

(B) 
O

C 

H
O

O

H

(a) (A) dh r qyuk esa (B) ds fØLVfyr  gksus dh T; knk l EHkkouk gSA

(b) (A) l s (B) dk DoFkukad mPp gSA

(c) (A) dh r qyuk eas (B) t Ynh l s i kuh esa ?kqy t kr k gSA

fuEu esa l s l gh fodYi  pqfu; s :
(1) (a) r Fkk (c) l R;  gSA (2) ek=kk (a) l R;  gSA

(3) (b) r Fkk (c) l R;  gSA (4) (a) r Fkk (b) l R;  gSA
Sol. Bonus

All answer are correct

15. The strengths of 5.6 volume hydrogen peroxide (of density 1 g/mL) in terms of mass percentage
and molarity (M), respectively, are:
(Take molar mass of hydrogen peroxide as 34 g/mol)
(1) 0.85 and 0.5 (2) 0.85 and 0.25
(3) 1.7 and 0.25 (4) 1.7 and 0.5
5.6 vk; r u dh gkbMªkst u i j kWDl kbM (?kuRo 1 g/mL) dh l keF; Z] nzO; eku i zfr ' kr r k r Fkk eksyj r k (M) ds i nksa esa Øe' k% gS%

(gkbMªkst u i j kWDl kbM dk eksyj  nzO; eku 34 g/mol yhft ; s)
(1) 0.85 r Fkk 0.5 (2) 0.85 r Fkk 0.25
(3) 1.7 r Fkk 0.25 (4) 1.7 r Fkk 0.5

Sol. 4
Volume strength = 5.6V

molarity = 
5.6
11.2

= 0.5 mol / l

mass % = 
0.5 34

10
 

  
×

1
1g /ml

= 1.7 %
Ans. 1.7 & 0.5 option (4)



16. The compound A in the following reactions is:

A 

 
/SOH Conc. )ii(
OH/MgBrCH )i(

42

23

B 
OZn/H )ii(

O )i(

2

3   C + D

C 


 
 )ii(

KOH Conc. )i(   COO  K+ + CH OH2

D 


  2)OH(Ba  H C–C=CH–C–CH3 3

OCH3

fuEufyf[ kr  vfHkfØ; kvksa esa ; kSfxd A gS %

A 3 2

2 4

(i) CH MgBr /H O

(ii)  H SO /


l kUnz

B 
OZn/H )ii(

O )i(

2

3   C + D

C  
(i)  KOH

(ii) 
l kUnz

 COO  K+ + CH OH2

D 


  2)OH(Ba  H C–C=CH–C–CH3 3

OCH3

(1) C H —CH –C–CH6 5 2 3

O

(2) C H –C–CH6 5 3

O

(3) C H –C–CH6 5

O
CH3

CH3

(4) C H –C–CH CH6 5 2 3

O

Sol. 1



17. A mixture of one mole each of H2, He and O2 each are enclosed in a cylinder of volume V at
temperature T. If the partial pressure of H2 is 2 atm, the total pressure of the gases in the cylinder is:
H2, He r Fkk O2 i zR; sd ds , d eksy ds feJ.k dks r ki  T i j  vk; r u V okys fl fyUMj  esa cUn fd; k t kr k gSA ; fn H2 dk vkaf' kd
nkc 2 atm gS] r ks fl fyUMj  esa xSl ksa dk l Ei w.kZ nkc gS :
(1) 6 atm (2) 14 atm (3) 38 atm (4) 22 atm

Sol. 1

2Hp  = 2 atm = xH2 × ptotal

2 atm = 
1

1 1 1 
× Ptotal

Ptotal = 6 atm
Ans. option (1)

18. Three isomers A, B and C (mol. formula C8H11N) give the following results:

A and C   ionDiazotizat  P + Q 
)H(KMnO    

Oxidation )ii(
Hydrolysis )i(

4


   R (product of A) + S (product of C)

R has lower boiling point than S

B   ClSOHC 256  alkali-insoluble product
A, B and C, respectively are:
r hu l eko; oh A, B r Fkk C (v.kql w=k C8H11N) fuEufyf[ kr  i fj .kke nsr s gSa %

A r Fkk C Mkb,st ksdj .k  P + Q 
4

(i) 

(ii) 
    (KMnO H )

t yvi ?kVu

vkWDl hdj .k
 R (A dk mRi kn) + S (C dk mRi kn)

R dk DoFkukad S l s de gSA

B   ClSOHC 256  {kkj &v?kqyu' khy mRi kn
A, B r Fkk C Øe' k% gSa:

(1) 
NH2

CH CH2 3

CH NH2 2

CH3

NH2

CH CH2 3

, ,

(2) 
CH CH2 3

H N2

NHCH CH2 3 NH2

CH CH2 3

, ,

(3) 
CH CH2 3

NH2

,
CH CH2 3NH

,
NH2

CH CH2 3

(4) 
NH2

CH CH2 3

,
CH CH2 3NH CH CH2 3

H N2

,



Sol. 2

NH2

C H2 5

+
C H2 5

NH2

(A) (C)

Diazotisation
Et

(P)

N Cl2

+ —

(Q)

N Cl2

+

Et

hydrolysis
Et

OH

+

Et

Oxidation

COOH

(R)

OH

(S)

OH

+

COOH

CH —NH—CH2 3 CH —N—SO —C H2 2 6 5

(B) (insoluble in alkali)

CH3

C H SO Cl6 5 2

19. For the reaction 2A + 3B + 
2
3

C  3P,,

which statement is correct?

vfHkfØ; k 2A + 3B + 
2
3

C  3P ds fy,  dkSul k dFku l gh gS \

(1) 
dt

dnA  = 
dt

dnB  = 
dt

dnC (2) 
dt

dnA  = 
2
3

dt
dnB  = 

3
4 dt

dnC

(3) 
dt

dnA  = 
3
2

dt
dnB  = 

3
4

dt
dnC (4) 

dt
dnA  = 

3
2

dt
dnB  = 

4
3

dt
dnC

Sol. 3

2A + 3B + 
3
2

C  3P

ROR = A–d[n ]1
2 dt
 
 
 

 = B–d[n ]1
3 dt
 
 
 

 = c–d[n ]2
3 dt
 
 
 

= ed[n ]1
3 dt

 
 
 

A–dn
dt

 
  

 = B–d[n ]2
3 dt
 
 
 

= e–d[n ]4
3 dt
 
 
 

20. Consider the following reaction:

OHd

O H c

O H aO H a
CH3

 anhydride

Chromic   'P'

The product 'P' gives positive ceric ammonium nitrate test. This is because of the presence of
which of these –OH group(s)?
(1) (b) only (2) (b) and (d) (3) (c) and (d) (4) (d) only



fuEufyf[ kr  vfHkfØ; k i j  fopkj  dhft ,  %

OHd

O H c

O H aO H a
CH3

 anhydride

Chromic   'P'

mRi kn 'P' l dkj kRed l sfj d veksfu; e ukbVªsV i j h{k.k nsr k gSA ; g buesa l s fdl  –OH l ewg dh mi fLFkfr  ds dkj .k gS ?
(1) ek=k (b) (2) (b) r Fkk  (d) (3) (c) r Fkk (d) (4) ek=k (d)

Sol. 1

21. The volume (in mL) of 0.1 N NaOH required to neutralise 10 mL of 0.1 N phosphinic acid is ___________.
0.1 N QkWfLQfud vEy ds 10 mL dks mnkl hu djus ds fy,  vko' ; d 0.1 N NaOH dk vk; r u (mL esa ) gS___________A

Sol. 10 ml
NaOH + H3PO2 NaH2PO2 + H2O

Phosphinic
Vol. × 0.1 = 0.1 × 10
vol = 10 ml Ans.

22. An acidic solution of dichromate is electrolyzed for 8 minutes using 2A current. As per the following
equation

–2
72OCr  + 14H+ + 6e–  2Cr3+ + 7H2O

The amount of Cr3+ obtained was 0.104 g. The efficiency of the process (in %) is (Take: F = 96000
C, At. mass of chromium = 52) _______.
MkbØkssesV ds , d vEyh;  foy; u dks 2A fo| qr /kkj k dk mi ; ksx dj ds 8 feuV r d oS| qr  vi ?kfVr  fd; k x; kA fuEufyf[ kr  l ehdj .k
ds vk/kkj  i j

–2
72OCr  + 14H+ + 6e–  2Cr3+ + 7H2O

cus Cr3+ dh vkdfyr  ek=kk 0.104 g i k; h xbZA i zØe dh n{kr k (% esa) gS
(ekusa : F = 96000 C, Øksfe; e dh i j ek.kq l agfr = 52) _______.

Sol. 60 %

[moles of Cr3+] × 3 = 
8 60 2
96000
 

moles of Cr3+ = 
8 4
9600


=
1

300
 mol   ; mass of Cr3+ = 

52
300

g

% efficiency = 
Actual obtainedAmt 100
Theo. obtainedAmt



= 
0.104 100

52
300


= 30 × 

104
52

= 60%



23. If 250 cm3 of an aqueous solution containing 0.73 g of a protein A is isotonic with one litre of
another aqueous solution containing 1.65 g of a protein B, at 298 K, the ratio of the molecular
masses of A and B is ______ × 10–2 (to the nearest integer).
; fn i zksVhu A ds , d t yh;  foy; u dk 250 cm3  ft l esa A dk 0.73 g  gS] i zksVhu B ds , d t yh;  foy; u ft l ds 1 yhVj
esa i zksVhu dk 1.65 g gS] 298 K i j  l ei j kl kj h gSa A r Fkk B ds vkf.od l agfr ; kas dk vuqi kr  gS _____ × 10–2 (fudVr e i w.kZad)A

Sol. 177

A B

0.73 1000 1.65
M 250 M

 

A

B

M
M  = 

73 4
165


= 1.769

= 176.9 × 10–2

=  177 × 10–2

24. 6.023 × 1022 molecules are present in 10 g of a substance 'x'. The molarity of a solution containing
5 g of substance 'x' in 2 L solution is _____ × 10–3.
, d i nkFkZ 'x' ds 10 g esa  6.023 × 1022  v.kq mi fLFkr  gSaA r ks ml  foy; u dh eksykfj Vh] ft l ds 2 L foy; u esa i nkFkZ  'x' dk
5 g gS] gksxh _____ × 10–3 A

Sol. 25

Mol. wt of ‘x’ = 22

10
6.023 10

×6.023 × 1023

= 100 g/mol

M = 
5 /100

2
= 

5 1000
200

   
× 10–3

M = 25 × 10–3 mol/lit

25. The number of C O groups present in a tripeptide Asp–Glu–Lys is ____.

, d Vªkbi sIVkbM] Asp–Glu–Lys esa mi fLFkr  C O l ewgksa dh l a[ ; k gS _______A

Sol. 5




